> A
A & 0l & AF 2 E A A
20219 = S0l &t LB SZetd2e|
SN BFoXBY
Ha: ME3D e
Chelr Ho1E 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SZ ot Zel 1t 18,343,081 37,634,803 219,291,722
= 10,827,290
< 7,505,791
£ 10,000
MetZ ol el 8,380,635 14,643,177 AB,262,542
= 4,533,940
< 3,846,695
CHore zel 6,553,205 12,037,727 A5,484,522
= 3,857,500
= 2,695,705
BZNERESE ne 1,664,963 1,785,735 A 120,772
308 XXIEHH SOl A 1,664,963 1,785,735 A 120,772
02 8+N2P= 1,664,963 1,785,735 AN120,772
OosgtgdMEreg= 1,664,963, 000 1,664,963
BEIWHER U= WP 34,492 34,492 0
308 MXIEHSOIH 34,492 34,492 0
02 8+=u2= 34,492 34,492 0
OZdgiis2 = 34,492,000 34,492
28 AMEE SXAE X A& 4,650,000 9,300,000 A 4,650,000
= 3,750,000
< 900,000
403 UHXSHHSA=0l& 4,650,000 9,300,000 A 4,650,000
= 3,750,000
S 900,000
01 XM A=2E X 4,650,000 9,300,000 A 4,650,000
OaL72 AMEE EXAE &3 K&
4,650,000,000 4,650,000
= 3,750,000
< 900,000
ANHSHMHH 28,000 13,500 14,500
201 ¢er24] 28,000 13,500 14,500
01 At 22/l 28,000 13,500 14,500
Oststotd e 28 28 & 88 S
18,500, 000 18,500
OststAtl &8 2/Y |2 9,500,000 9,500
SHNHHSAEE JI=XE 36,000 45,000 A9,000
307 glz2+ol & 36,000 45,000 A 9,000
02 It M AMHEE 36,000 45,000 29,000
OSZEH(ZNEBEAMEE) JI&XE
36,000,000 36,000
OlAIS X xR F=H 2te 139,750 859,000 AT19,250
= 107,500
< 32,250
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Za: MEzd 2el
S UorE 2el (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 139,750 0 139,750
= 107,500
< 32,250
01 X SHMA2E X 139,750 0 139,750
omigsa =8 ¢ ZA HH(EE) 7¢
139,750,000 139,750
= 107,500
< 32,250
gy el 1,827,430 2,605,450 AT78,020
= 676,440
< 1,150,990
SIS AL 2t 245,350 50,650 194,700
201 Let249] 10,200 4,950 5,250
02 =224l 10,200 0 10,200
OSZEANE B3 2EXNY 2E S
10,200, 000 10,200
202 4l 16,150 18,700 A 2,550
01 = LH 4 Hi 16,150 18,700 A 2,550
OSZ2HHMEANE L dRFE(MAEZ)
16,150,000 16,150
301 LA F 9,000 7,000 2,000
12JIE243 9,000 7,000 2,000
Ogoiztetdetx et & 884
6,000,000 6,000
OstZgaln(i1e8) a2 3,000,000 3,000
403 UHXSHHSA=0l& 210,000 0 210,000
01 HXSHMA2E X 210,000 0 210,000
OAFLRAE XML XNF AL
210,000, 000 210,000
== AAsEEI|J| £X - 28224 N& 310,080 2,160,000 A 1,849,920
= 223,440
< 86,640
402 RI2EX 20| ™ 310,080 2,160,000 A 1,849,920
= 223,440
< 86,640
02 2IZE 2 AL EZ(OI X TH ) 310,080 2,160,000 A 1,849,920
O=sJAZZANAA 25 310,080,000 310,080
= 223,440
< 86,640
=& AHs=ZI|J &X - 28224l N3 648,000 0 648,000
= 432,000
< 216,000
402 RIZER20l A 648,000 0 648,000
= 432,000
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AN 32 B
a: M 2ol
ool B#ERY e EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 216,000
02 U EALEZ(0IETHR) 648,000 0 648,000
O==Z3AALANHA +=5 648,000, 000 648,000
= 432,000
< 216,000
SMEATAMEH 2 (I RE X ) 314,000 390,000 276,000
307 21201 A 314,000 390,000 276,000
02 QIAFAANFEX 314,000 390,000 276,000
OBY =MAXNVLEH 29 MY
314,000, 000 314,000
NESA A2 244,000 0 244,000
201 LBt 44,000 0 44,000
01 At 22l 30,000 0 30,000
OMssazacdd 24 30,000, 000 30,000
02 =224l 14,000 0 14,000
OMEszasz 2" 29 14,000, 000 14,000
406 JIEtA =01 & 200,000 0 200,000
01 JIEtAI 20l A 200,000 0 200,000
ONERRBYB2T AASL TR S
200,000, 000 200,000
AF NEBXNSHAZTI EX XA 21,000 0 21,000
= 21,000
403 UHXSHHSA=0l& 21,000 0 21,000
= 21,000
01 HXSHMA2E X 21,000 0 21,000
O NEXNSHAEX X XA
21,000,000 21,000
= 21,000
oAF Ns=EI X =i 45,000 0 45,000
403 Mt SHHSA=0l& 45,000 0 45,000
01 HXSHMA=LE X 45,000 0 45,000
O%dF N=s=FI| X =i 45,000,000 45,000
HOI22 HEA Hel & 2l 9,888,076 22,634,338 N 12,746,262
= 6,293,350
=) 3,584,726
£ 10,000
HII=22 tEHHM ¥ 22 9,888,076 22,634,338 N12,746,262
= 6,293,350
=) 3,584,726
£ 10,000
E N E==- N 4,059,400 11,949,900 A7,890,500
= 3,119,000
< 940,400
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M HIISo AHEH M & 2el
ool HII2S A¥HH L 2ol (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 4,059,400 11,949,900 A7,890,500
= 3,119,000
< 940,400
01 X SHMA2E X 4,059,400 11,949,900 27,890,500
ORI A2A4E EXXA 289,800,000 289,800
= 235,000
< 54,800
OZFA 22AN4E &XXE 1,977,500, 000 1,977,500
= 1,431,000
= 546,500
OFLZ A2A4 EXXA 413,200,000 413,200
= 335,000
< 78,200
OUlat=z A2Ad EXXE 1,008,900, 000 1,008,900
= 818,000
< 190,900
O=atAl &22Ad XX 370,000,000 370,000
= 300,000
< 70,000
METHAS =HEH SXIXA 2,427,500 5,157,300 22,729,800
= 1,969,000
< 458,500
403 MtXISHH S0l & 2,427,500 5,157,300 A2,729,800
= 1,969,000
< 458,500
01 XM A=2EE 2,427,500 5,157,300 A2,729,800
OHEAN M3l =HH &= 489,400,000 489,400
= 397,000
< 92,400
ORNZ MEXdsl=dH &= 341,400,000 341,400
= 277,000
< 64,400
OTECHAl MEXJs=dE &5
1,384,800, 000 1,384,800
= 1,123,000
< 261,800
OYdAl 4T3 sl=HMH &= 211,900,000 211,900
= 172,000
< 39,900
SASRHIIS XM2AE 149,200 1,349,300 A 1,200,100
= 121,000
< 28,200
403 A X EHHS =0l A 149,200 1,349,300 A 1,200,100
= 121,000
< 28,200
01 X HHMA=LE L 149,200 1,349,300 A 1,200,100




2N

MM HIISO HEAE Xel & 22
e HIIS22 AHFEXe & 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Otz SAZRHII2 MelA&E &X
149,200,000 149,200
= 121,000
= 28,200
sZHHYE &2HEAZ X 819,400 826,800 ANT,400
= 204,850
& 614,550
308 XAXIEHSOIA 819,400 826,800 ANT,400
= 204,850
= 614,550
01 AIXSHMENMNEX= 819,400 826,800 ANT,400
O=sZHHY =HEAZ A 819,400,000 819,400
= 204,850
=} 614,550
HIIS2+H ¥ N3 223,118 231,038 AN7,920
308 XAXIGHMSOIA 223,118 231,038 AN7,920
01 AIKISHHENEXZ 9,180 17,100 ANT,920
OHSUESLH (M A=) 9,180,000 9,180
12 JIEt82 S =2 213,938 213,938 0
Os2AvY =AY 22 213,938,000 213,938
ol&Eot MADl HSALY 610,500 579,900 30,600
= 521,000
& 79,500
£ 10,000
308 XHXIEHSO|A 610,500 579,900 30,600
= 521,000
& 79,500
£ 10,000
01 AIKSHHEMNEXZ 610,500 579,900 30,600
Oodt&st M D HetALY 610,500,000 610,500
= 521,000
o 79,500
£ 10,000
SSsdotE &5 K& 181,050 160,650 20,400
= 106,500
= 74,550
403 XX SRS R 20| & 181,050 160,650 20,400
= 106,500
= 74,550
01 AXESHIE2E X 181,050 160,650 20,400
O=2sdoly &=z 181,050,000 181,050
= 106,500
& 74,550
Mes sSH Y XX 19,500 87,750 N 68,250
= 15,000
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g HYI=9 ¢EA Ml & 22
Selr HIIS2 ¢EHXe ¥ 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,500
403 MtXISHHSA=0l& 19,500 87,750 A 68,250
= 15,000
< 4,500
01 XM A=2E X 19,500 87,750 A 68,250
omMasg suote 4XX& 19,500, 000 19,500
= 15,000
< 4,500
=8 Atgl =4 1,133,008 1,744,500 A611,492
201 et 111,000 79,500 31,500
01 At 22l 111,000 79,500 31,500
Oltazsg ge=4d g2 60,000, 000 60,000
OFEE E2SHeANE £X & HEE 245
=T S(oaE) 25,500,000 25,500
O3S =01 82 S(HaEZ)
25,500,000 25,500
203 YR =&l 2,708 0 2,708
03 A BFAH S =AY 2,708 0 2,708
Ostdze] gRFA(0eEZ) 2,708,000 2,708
308 XtXIEHHSOIA 302,800 161,000 141,800
01 HXNHHNBHEELS 272,800 161,000 111,800
OotolAT =1 & THEES AIHEAMS
20,000, 000 20,000
oMl 28HEI 2AE 29 82,800,000 82,800
ONRH=sA =HMIAS (S EH)
150,000,000 150,000
O<cl0tS elA0IE2E BE2RE 20,000, 000 20,000
113/ 2SHUHSZAEEALS I 30,000 0 30,000
O3S3AZ (ML) ZellAHE 1818 A8 &
Xl 30,000, 000 30,000
403 A XIEHHS 20l A 716,500 1,467,800 A751,300
01 X SHHX2E= 716,500 1,467,800 A751,300
OdgMg) HE32 23 AtY
256,500,000 256,500
OSYEIl &b AIAE(CCTV) REAL (S E
o) 410,000, 000 410,000
oMol 2SI HE DEXE 50,000,000 50,000
TE3UXER2 =4 220,000 0 220,000
= 200,000
< 20,000
403 MHXSHHSA=0l& 220,000 0 220,000




SN BFAHBLIY

MM HIISO HEAE Xel & 22
Sl HOl2S HFHHe L el CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 200,000
= 20,000
01 XIS A=Z2E X 220,000 0 220,000
OBz et UXE2 =4 110,000,000 110,000
= 100,000
= 10,000
OFSZ JstAFUHNUKXNEE =4 110,000,000 110,000
= 100,000
& 10,000
SAE MEHIIS SEAE &1 45,400 0 45,400
= 37,000
o=t 8,400
403 XX SHS K20 & 45,400 0 45,400
= 37,000
& 8,400
01 XIS AE2E X 45,400 0 45,400
O=AtAl SALE MEHIIE2 dEAIE &K
45,400,000 45,400
= 37,000
& 8,400
HMSHAY| (P otA el ) 74,370 72,030 2,340
Jl2d gl (sZetd 22| ) 74,370 72,030 2,340
Jl2dd| (gZ ot e ) 74,370 72,030 2,340
201 et 35,190 34,020 1,170
01 AFR 2t 2| bl 35,190 34,020 1,170
QstFotM e ARZX (M AHEZ)
35,190,000 35,190
202 044l 35,190 34,020 1,170
01 2L Y| 35,190 34,020 1,170
QstPotM e ALZX (M AHEZ)
35,190,000 35,190
203 €2 F=&d| 3,990 3,990 0
04 EANSIELR2F=XH| 3,990 3,990 0
QstPotde|l 2= (M AHEZ)
3,990,000 3,990




